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Section Id :

Section Number :

Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear
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Sub-Section Number :
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Question Id : 6326864785 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time : 0

Question Numbers : (1 to 20)

(1)

Data Sufficiency

COTFPOF DT 5ed

(Marks: 20)
(5B .e0: 20)
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Note: In questions numbered 1 to 20, a question is followed by data in the form of
two statements labelled as (I) and (11). You must decide whether the data
given in the statements are sufficient to answer the questions. Using the data
make an appropriate choice from (1) to (4) as per the following guidelines:

(a) Mark choice (1) if the statement (1) alone is sufficient to answer the question,
but (Il) does not answer the question.

(b)Mark choice (2) if the statement (ll) alone is sufficient to answer the
question but (I) does not answer the question.

(c) Mark choice (3) if both the statements (I) and (Il) are sufficient to answer
the question but neither statement alone is sufficient.

(d) Mark choice (4) if both the statements (I) and (Il) together are not sufficient
to answer the question and additional data is required.

Drsed: 1 HOB 20 HEH 2D (DS 1DF) S 2.8 199y, T 1808 1, 1l @
Hen #e Bodh (DIBTren SToI0MT VILDTOW. VDI
ATF0FTAV) GOATN0D, VDN [(DIDTEN (D150 DIFTTR)
FDJ0DHH HTETren ©9JHEroir B @ D ATBoTd). &
QT B8 Bod Srdd ¥ drEren aHBrNod (1) Hod (4) H8% H6
0N BTV DODE TALOS.

(@) 10¥150 DATE0 DD JODED 1DSWBN0 (1) S DT ERDoW, () D
DIPTSR [OEFS o 2720 (1) T Hdood.

(b) 15%)50 DITEO0 WD 0B (DSIN0 (1) Sr(ebad HTgadaow, (I) T
DT NS FBIS’ b 22w (2) I Hlosob.

(€ D315 J3rordo AT o% (DSHBTen (1), () 30 HTradHown
00 & 2,523 3 HomER0 SEFB D 2w (3) T Hlotod.

(d) 193150 DAFET00 BT JOE [DSaen (1), (1) 0 §rEe HT°E0 5258
@555y BTP0F0 @I50BH0WS b Barad (4) M HdoSo&.

Sub questions

Question Number : 1 Question Id : 6326864786 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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What is the value of x + y?
x + y O30E) D0 D0Ed?
) 3x—4p—=5=20.

() 8y—6x+10=0.

Options :
1. %]
2. %2
3.%3
4.9 4

Question Number : 2 Question Id : 6326864787 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is angle A in triangle ABC?
18329220 ABCS' %620 A DOeh?
()  «B =40°.

(I)  Triangle ABC is isosceles.
1329230 ABC 2,8 Qo 52530 (£3259230.

Options :
1. %1
2. %2
3.%3

4.v 4 .
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Question Number : 3 Question Id : 6326864788 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Is the integer 3m + 4n even?

3m + 4n @ JrT0E0 SBH0WS @Yo ?

(1

Options :
1. % 1
2.¥2
3.%3
4. % 4

2m + n iIs an odd number.

2m + n 8 B QOPVS.

m + 2n i1s an odd number.

m+ 2n 28 B dows.

Question Number : 4 Question Id : 6326864789 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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A sequence of integers is given by a,, = (a,_, + 1)%, then what is a;?

2,8 PTTOSPO @DEN0 a, = (ap-; + 1)? D [I[DAIE. 9k

g Ojjoé ?

(1) a, Is an odd integer.

a1, % Sy,

Options :
1.v 1
2. %2
3. %3
4. % 4

Question Number : 5 Question Id : 6326864790 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Is the perimeter of the rectangle greater than 65 cm?

s HY DHGD0 B, DRSO 65 DO, ES) DB

€909 0T ?

1)) Its length is less than 16 cm.

PR SPCSSY) 16 0. ) 807,.8.

(1) Its breadth is greater than 10cm.
PR DB 10 DO LAY 8655,

Options :
1. % 1
2. %2
3.%3
4.9 4

Question Number : 6 Question Id : 6326864791 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

For real numbersa,bandc,isa=b=c¢?
FROVODIBS @, b DB ¢, OF a=b=c @HHOT?
(1) a4+ 3b+2c=0.

(I  a®+b%®+c?=ab+ bc+ca.

Options :
1. % 1

2.92 Qcollegedunias
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3. %3
4. % 4

Question Number : 7 Question Id : 6326864792 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

How much money do the persons A and B together have?

A B0 B @ 55500 @8 5 502 Do InehoeS 350

Se¢?

(h B has Rs.200 less than what C has.

C 3G 8ad) B IO & 200 €550 o).

(I A has Rs.300 more than C has.
C 30 83 A 38 Bom. 300 80365 Bexdd.

Options :
1. %1
2. %2
3. %3
4.9 4

Question Number : 8 Question Id : 6326864793 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

°
gcollegedumas
India’s largest Student Review Platform

-



How many students passed in both Mathematics and English?

(563650 DB e300 BOBOE3S Doeh O D schen
ﬁ@@ejo&?gé}?

(1

Options :

1. %1
2. %2
3. %3
4.4 4

15 failed in both Mathematics and English.
15 2008 (163650 HBaM esolio BoGot3S HonS
95§,

The number of failures in Mathematics exceeds the number of
failures in English by 10.
23000 oS @oNS D e Sows ¥ KededocS

00O AN DTFEDE> JoE 10 DBV,

Question Number : 9 Question Id : 6326864794 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Is'x =y =27
X =y =z @Y owr?
M xX*+y3+2z°=3xyz

(n x2+vy2+z?2=xy+vyz+zx

Options :
1. %]
2.¥2
3.%3
4. % 4

Question Number : 10 Question Id : 6326864795 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the average of a, b, c,d?
a, b, c,d ) DD DOEB?
(1 a+b+c=d+ 15.

@ 13 —c—-3d =0t b

Options :
1. %1
2. %2
3.¥3
4. % 4
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Question Number : 11 Question Id : 6326864796 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the GCD of the positive integers m, n?

A,

eI TCOSEN m, n © (f.or2r. DOed?

(N LCM of m,n is 165.
m,n © 5.3°0. 165.

(I Product of m,n is 165.

m,n @ ©DO0165.

Options :
1. %1

2.2
3. % 3
4. % 4

Question Number : 12 Question Id : 6326864797 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the area of the sector?
VD BFTOE0 )OS ?

(h Radius of the circular sector is 10 cm.

e DT Q0o 10 DO.JD.

()  The angle of the sector is %

&3 VT 80 %
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Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 13 Question Id : 6326864798 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the area of the rectangle PQRS ?
A Hed SO0 PQRS T3E) IF°r53006b ?

1)) PQ is twice of QR.
QR 380 BEoH™ PQ God.

() PS=4gm.
PS=4 0.0,

Options :
1. %1
2. %2
3.93
4. % 4

Question Number : 14 Question Id : 6326864799 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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What is the HCF of x and y ?
x oNBA y © .ReF. D0E5?

(h Ratioof x and v is 2 : 3.
x OO ¥y © DAL 2 : 3.

(Il x and y are two consecutive positive integers.

x OO y 0 BO A G T OS5,

Options :
1. %1
2.¥2
3. %3
4. % 4

Question Number : 15 Question Id : 6326864800 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the value of x® — y® ?
x% — y® G308 DN DOEH?

N x3 —y% =10.

Options :

L% 1 gcollegedunias
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2. %2
3. %3
4.9 4

Question Number : 16 Question Id : 6326864801 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Is A a brother of B ?

B 50 A &FSHTE?

(h B is a sister of C.
CB0 2.5 ¢S50 B.

(I Cis a brother of A.
A8 2,8 PSS C.

Options :
1. # 1
2.%2
3.%3
4.¥ 4

Question Number : 17 Question Id : 6326864802 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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In how many hours did David cover 600 miles?
600 Dy STTR) BAG D) HotresS 5578 TH»?

()] David covered the first half of the distance at 40 mph.
BAE JE3 D0 Aror) HoEEL 40 Py S0 3378

DD,

(Il David covered the last %‘h of the distance at 30 mph.

BOE DB TN 50D T 050 30 ¥
SH0S 8 BN,

Options :
1. %1
2. %2
3. %3
4.v 4

Question Number : 18 Question Id : 6326864803 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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How many people are there in that room?

&3 HAS D0eHDOE Eered?

(h If 4 persons leave the room, then there will be less than 15
persons in that room.
4 35500 B0 SO IDB, 3 A 15 D0 §5) 55035
NVelaRjolnie]

(I)  If 3 more persons enter the room, then there will be more than

20 persons in that room.
S8 S0MHEH SsBren BOSE (DBIW, & HOS SsHe

QODE 20 NOAET®) D802 SIOED.

Options :
1. % 1
2. %2
3.¥3
4. % 4

Question Number : 19 Question Id : 6326864804 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Alex and Tony started a piece of work. After working for two days, Alex
left. The remaining work was completed by Tony. In how many days

did Tony complete the work?

95 ) S08AM ' 0 2,8 DA (*B0D0NB. Bockh Hazen ¥
DA Bars, @S5 ) IO ITadD. AQ), FeredeS ' e I 538
T "o ?

() Tony can complete the work in 20 days working individually.

&' 28,3 € HAD 20 F2resS 0 Tohiiercd.

() Alex and Tony can complete the work in 6% days working

together.

@8y, & addr O e HAD 6% SerereS o8
DODHEER.

Options :
1. %1
2. %2
3.¥3
4. % 4

Question Number : 20 Question Id : 6326864805 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Is D a brother of F ?

F o550 D &S0 ?

(I) B has two sons of which F is one.

B 50 @B 5057%0en 308 @0 25K F.

(I D’'s mother married to B.

D &308) 5 B & DeIra T8,

Options :
1. %1
2. %2
3. %3
4.9 4

Sub-Section Number : 2
Sub-Section Id : 632686531
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 6326864806 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the questions 21-30, each contains two pairs of groups ( of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill in
the blanks appropriately.

21-30 8% (10 (D)0 (DTS Boch 280 (©Fore S
@0Z T OO0 NOWED) JeNFTFEN Y. 28 2SS EIVODS
©% €00 DHTE 2SS S 30t ) GOtNOH. €8 ©F el 2|
H00D) TP DB ¢3S Hroodok.
Qcpllegedunias
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PRIN XLV : RTNP

(1) IMGI
2) JLFH
(3) KMGI
(4) KNHJ

Options :

1. % 1

2.¥2

3.%3

4. % 4

Question Number : 22 Question Id : 6326864807 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the questions 21-30, each contains two pairs of groups ( of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill in
the blanks appropriately.

21-30 S650 e (D90 (DTS’ Boch 2o (@ZTe B
2055 SHOA DOWES) DeFeFEN F05Y. 2.8 35S EDD0DS
@8 90 DTE 2SS ¢30t70) ) GOLNOH. €8 OF el 2|
100D TP DB ¢3S HrOoHok.
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QRS : VWX : - MNO

(1) GHI
(2) HU
(3) KLM
(4) DEF

Options :

1. %1

2.9 2

3. %3

4. % 4

Question Number : 23 Question Id : 6326864808 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the questions 21-30, each contains two pairs of groups ( of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill in
the blanks appropriately.

21-30 S8% (10 (D)0 (DSBS’ Boh 260 (©ETre B
5 T°0) OO0 NOWED) JNFIFeN 0. 2.8 2B EDD0DS
% £20 HTE 23S 51 30579 ) GOV, €8 5 el N
(00D TP OB 73S JrBododk.
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Gum : Stick = Needle :

(1)
(2)
(3)
(4)
Options :
1. %1
2. %2

3. %3
4.9 4

Cloth
Prick
Taylor
Stitch

Question Number : 24 Question Id : 6326864809 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the questions 21-30, each contains two pairs of groups ( of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill in

the blanks appropriately.

21-30 S8% o (D)0 (DTS’ Boch 2% (©iore S
507 HOAN NOWES) HrsFen Y. 2.8 35S EDD0DS
08 €90 DT 35S T 30T E) ) G0N0, & & F ) |

00D PPN IBS ¢3S rO0H0k.
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SUWY : LPTX = PRTV :

(1) INRU
(2) INQU
(3) IMRU
(4) IMQU

Options :

1. %1

2. %2

3. %3

4.v 4

Question Number : 25 Question Id : 6326864810 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the questions 21-30, each contains two pairs of groups ( of letters or
letters and numbers). The pattern that appears in one pair should be

followed by the other pair also. Observe the pattern carefully and fill in
the blanks appropriately.

21-30 S8% (1 (D)0 (IS’ Boh 260 (©ETre B
5 T°0) OO0 NOWED) JNFIFeN 0. 2.8 2B EDD0DS
% £20 HTE 23S 51 30579 ) GOV, €8 5 el N
(00D TP OB 73S JrBododk.
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ACER : BEHV :: ROSE :

(1) sval
(2) SIQVv
(3) salv
(4) sQvi

Options :

1. %1

2. %2

3.%3

4.9 4

Question Number : 26 Question Id : 6326864811 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the questions 21-30, each contains two pairs of groups ( of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair alsa. Observe the pattern carefully and fill in
the blanks appropriately.

21-30 S8% (o (D)0 (DTS’ Boch 2% (©Fore S
20557 SHOA DOWES) DeFeFEN $05Y. 2.8 B35S EDD0DS
@8 90 DTE 2SS ¢30t70) ) GOLNOH. €8 OF el 2|
HDDOD) YD DB ¢3S rOoH0k.
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PEM : 35 2 1AB;

(1)
(2)
3)
(4)

Options :
1. %1
2. %2
3.¥3
4. % 4

20
18
15
30

Question Number : 27 Question Id : 6326864812 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the questions 21-30, each contains two pairs of groups ( of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill in

the blanks appropriately.

21-30 8% (1 (DO (DBTAS’ Boh 2% (©Eore S
507 HBAN NOWES) HrsFen 0. 2.8 2SS EDD0DS
85 €20 0T 35S ST are30Tr ) ) SN0, & e e 2|

$00D LD DB 73S JrBododk.
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SEVQR0) : UGX (D) : VEG(®):

(1) GXHF(5)
(2) XGl 49

Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 28 Question Id : 6326864813 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the questions 21-30, each contains two pairs of groups ( of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill in
the blanks appropriately.

21-30 S8% (o (D)0 (DTS’ Boch 2% (©Fore S
20557 SNOA DOWES) DeDFeFEN $05Y. 2.8 35S EDD0DS
@8 90 DTE 2SS ¢30t70) ) GOLNOH. €8 OF el 2|
HDDOD) YD DB ¢3S rOoH0k.
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AE: 26 :: DH:

(1)

Options :
1. %1
2. %2
3.¥3
4. % 4

83
70
80
74

Question Number : 29 Question Id : 6326864814 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

In the questions 21-30, each contains two pairs of groups ( of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill in

the blanks appropriately.

21-30 S650 e (D90 (DTS’ Boch 2o (@ZTe B
©E TP NBO NOWED) DraFen 0. 28 2SS EJVODS
8 0 DTE 2SS 30570 ) GOLNOH. €8 O F ) 2|

100D TP DB ¢3S HrOoHok.
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B 4. P
¥ 53 =
i |
0
41
@ =
51
3y =
€)
61
7 b il
“) 71
Options :
1. %1
2. %2
3.%3
4.9 4

Question Number : 30 Question Id : 6326864815 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the questions 21-30, each contains two pairs of groups ( of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill in
the blanks appropriately.

21-30 S8% (1 (D)0 (IS’ Boh 260 (©ETre B
5 T°0) OO0 NOWED) JNFIFeN 0. 2.8 2B EDD0DS
% £20 HTE 23S 51 30579 ) GOV, €8 5 el N
(00D TP OB 73S JrBododk.
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ALSO(12): cNUQ@D): FIVEQ) :

(1) HKXG(2)
2) HKXG(A1)
3) KHYG({1D)

4) HKWG(1)

Options :

1. % 1

2.9 2

3.%3

4. % 4

Sub-Section Number : 3
Sub-Section Id : 632686532
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 6326864816 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Note : In questions numbered 31 to 35 pick the odd thing out.

(5o0% 1 31 0 35 S5BB1 3ed 1DFOS HBFOAS tHBoTHSW.

212 3.6.1,.20.37.66,

(1) 425
(2) 126
(3) 127
4) 128

Options :

1.v1

2. %2

°
Qcollegedumas
India’s largest Student Review Platform

-



3. %3
4. % 4

Question Number : 32 Question Id : 6326864817 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Note : In questions numbered 31 to 35 pick the odd thing out.

(10Q% : 31 0 35 SBB A (DTS HBFOIA HB0oTHSW.

Frog, Crocodile, Allegator, Whale, Tortoise, Toad, Turtle

(1) Tortoise

(2) Whale
(3) Crocodile
(4) Frog

Options :

1. %]

2.¥2

3. %3

4. % 4

Question Number : 33 Question Id : 6326864818 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Note : In questions numbered 31 to 35 pick the odd thing out.

(o0 : 31 HOG 35 5850 KO (DS HBFOIE HBotHW.

°
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Carrot, Cauliflower, Cabbage, Capsicum, Ladies finger, Brinjal, Bottle

guard

(1) Carrot
(2) Cabbage
(3) Capsicum
(4) Brnjal

Options :

1.¥1

2. %2

3. % 3
4. % 4

Question Number : 34 Question Id : 6326864819 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Note : In questions numbered 31 to 35 pick the odd thing out.

(10% : 31 0 35 SHBB1 A 1DFOS HBTFOIA tHBotHsw.

31, 63, 127, 257, 511, 1023, 2047

(- 31
(2) 63
(3 25F
(4) 1023

Options :

1. %1

2. %2

3.¥3

4. % 4
gcollegedumas
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Question Number : 35 Question Id : 6326864820 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Note : In questions numbered 31 to 35 pick the odd thing out.
(10E : 31 0 35 SBB A DFOS HOFOIA HB0THSW.

8, 50, 18, 72, 104, 128, 98

(1) 98
(2) 104
(3) 18
) 72
Options :
1. % 1
2.9
3.% 3
4. % 4
Sub-Section Number : 4
Sub-Section Id : 632686533
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 6326864821 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

(108 36 DO 45 G50 (O 1DFe0 208 DDA DO
TEIDTYI0W. &8 DONATY) HHDOD JBADH HArTOS
DD FO0H0A.

°
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1

25 20 162, i 4 095
3 2 9 11

1

(), 15=

2

(2) 14;

5

(3) 14;

1

4) 13¥
Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 37 Question Id : 6326864822 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

DB 36 DO 45 50 (O 1DFe0 2.8 DDA DO
eI oW, e DODATD) HHDOD HBADH HArTrared
29D rBod0k.

2 3. 5.812 1% 23,

(1) 28
(2) 29
(3) 30
(4) 31

Options : Q collegedunias
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1. %1
2. %2
3.3
4. % 4

Question Number : 38 Question Id : 6326864823 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

(108 36 DO 45 G50 (O 1DFe0 208 DDA DO
TEIDTYIOW. & DONVATY) HNDOD JBADH HArTreOS
DD FO0H0A.

(=AE] A=A e .

(-17 — 12v2),(—41 — 29v2)

(1) (=15 —11y2)
2 (13-9v2)
3) (-10-7v2)
@) (-7-5v2)

Options :
1. ¥ 1
2. %2
3. %3
4.9 4

Question Number : 39 Question Id : 6326864824 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

a0 36 DO 45 5B He) [DFe0 208 DDA DAY
AT oM. 8 AONIT)  HDHAOD DBADD DT ereS
DD FO0I0A.

0,11, 18, 27,38, , b6

(1) 41
(2) 47
(3) 51
4) 61

Options :

1. %1

2. %2

3.¥3

4. % 4

Question Number : 40 Question Id : 6326864825 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

D8 36 cDOG 45 S50 (O 1DFeN 2085 DDA DO
eI oW, e DODATD) HHDOD HBADH HArTrared
29D rBod0k.
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2 4+2,6,6+6,8+2V2,10++10,__ , 14 ++14

(1) 12+ 42
() 12+42V2
(3) 12442

4) 12+ 243

Options :
1. % 1
2. %2
3.%3
4.9 4

Question Number : 41 Question Id : 6326864826 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

108 36 DO 45 HGBY (O |DFe0 2.8 DDAV DCANSTV)
DEIDTLON. 8 DONAITR)  HDA0D DBAHH  Ndrerarerds
DD F*O0H0A.

1 8 27 64 216 343
T o 37 ' 50
89
(Y =
125
) &
132
G) —
164
W =
Options :
1. % 1
2.¥2

3.% 3 Qcollegedunias
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4. % 4

Question Number : 42 Question Id : 6326864827 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

(108 36 DO 45 G50 (O 1DFe0 208 DDA DO
TEIDTYIOW. & DONVATY) HNDOD JBADH HArTreOS
2D FO0H0A.

64; 32, 35, 5,22, 11,14, , 16, 8, 28, 4

(1 1
(2) 2
B2y 3
4 4

Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 43 Question Id : 6326864828 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

D8 36 cDOC 45 G50 (O 1DFe0 208 DADIB RV DAY
eI oW, e DODATD) HHDOD HBADH HArTrared

29D rBod0k.
gcollegedunias
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2 14, 3; 21, , 28, 5,35, 6,42

(1) 20
(2) 16
3) 8
M 4

Options :

1. %1

2. %2

3. %3

4.v 4

Question Number : 44 Question Id : 6326864829 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

(108 36 DO 45 550 (e 1DEe0 208 DDA DAY
DEIDTLON. 8 DONAITR)  HDA0D DBAHH  Ndrerarerds
DD F*O0H0A.

4,12, 48, 240, 10080, 80640

(1) 1440
(2) 3650
(3) 5940
(4) 8420

Options :
1.v1

£ .
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3. %3
4. % 4

Question Number : 45 Question Id : 6326864830 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

(108 36 DO 45 550 (e 1DEe0 208 DDA DAY
3 NT00. 8 AONRTAY HDAOD JBAHH Ddrrarers
DD FO0I0A.

2, 6,20, 42,110, 156, 272,

(1) 243
(2) 432
(3) 340
(4) 342
Options :
1. % 1
2. %2
3.%3
4.¥ 4
Sub-Section Number : 5
Sub-Section Id : 632686534
Question Shuffling Allowed : Yes

Question Id : 6326864831 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0

Question Numbers : (46 to 48)

(b) Data Analysis (Marks : 10)
ST 0F DBNED (S0 @ 10)

°
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The following graph shows the expenditure of a household on repairs
(in hundred rupees) during January to September. Based on this,

answer the questions from 46 to 48.

& 1800 Tr QB0 2.8 By H0VOHOD NGNS
B398 DOB DRODHD  HBB TS SLOHDO (508
EFaroNeS ) BT eHod.

S8 O 040 SOOI 46 DO 48 HOBL (e |DF) O30

PSRV AV D IV DS

EXPENDITURE ON REPAIRS
Quday dow p Jjobo

JAN FEB MAR APR MAY JUN JUL AUG SEP

ADSO DDSO ATE) AWDE D 2 2T ey o

Sub questions

Question Number : 46 Question Id : 6326864832 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Qcollegedunias
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The percentage increase of the expenditure in the month of June than

the month of March

S8 T & FFA) YN 2R TS DI 55AH0 S DD

F°eH0

(1) 335

(2) 133:

1

(3) 2335

(4) 66-
Options :
1. %]
2.2
3.%3
4. % 4

Question Number : 47 Question Id : 6326864833 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

°
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Which month shows highest percentage increase in expenditure over

its previous month?

& T HONO0, T AWOCND) TS PO IBNIH DD
350 (JBQOM” GOE?

(1) February D[220
(2) April DD
(3) May B
(4) September 0 020M
Options :
1. % 1
2.92
3.%3
4.% 4

Question Number : 48 Question Id : 6326864834 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The average expenditure per month in the given period (in rupees)

&3 528 TN SN 55000 (BrarohereS)

(1) 3157

2) 46672

=]

3) 3333%

(4) 32??5

°
Qcollegedunlas
India’s largest Student Review Platform

-



Options :
1. %1

2. %2

3.%3

4.v 4

Sub-Section Number : 6
Sub-Section Id : 632686535
Question Shuffling Allowed : Yes

Question Id : 6326864835 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0

Question Numbers : (49 to 51)

(b) Data Analysis (Marks : 10)
ST 0% DB (557250 : 10)

The Pie-chart shows the number of toys of six types A,B,C,D,E and F

manufactured by a company. Based on this, answer the questions from

49 to 51.

2,8 50 56518 T e3¢ B85S A, B, C,D,E oDO0D F 9% eséd
IR DO EOD D DO L) 0. A SSorT 49 Hod
513850 1) (233050 DedrTrare) ;.

Sub questions g collegedunias
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Question Number : 49 Question Id : 6326864836 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The percentage of toys of type E in the total number of toys of all types

Is

SB0 €36 5N Do S’ E B350 €38 5N FoHo

(1) 19-
L2
@ 21
3) 202
4) 19-
Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 50 Question Id : 6326864837 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

°
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If the total number of toys produced is 72000, then the number of toys

of type A is

€565 363 TODRS DNB0 €36) HNHE HoWE 72000 90NN,

©90CHES A S50 €3635 0 H© Do

(1) 13000
(2) 12000
(3) 24000
(4) 14000

Options :

1. %1

2.¥2

3. %3

4. % 4

Question Number : 51 Question Id : 6326864838 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The ratio between the number of toys of types A and E is

A S50 €86) 6566 DOWEZY DO E BE0 e38) HHed dowsdo
e DA

(1) 4:5
(2) bH:i¥
3 7:6
4) 67

°
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Options :

1. % 1

2.% 2

3.% 3

4. 4

Sub-Section Number : 7
Sub-Section Id : 632686536
Question Shuffling Allowed : Yes

Question Id : 6326864839 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0

Question Numbers : (52 to 55)

(b) Data Analysis (Marks : 10)
SEod DI (5572560 : 10)

°
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In an examination consisting of tests in three subjects Physics,

Chemistry and Mathematics, the following data is obtained.

2538 TR0, BaroDS TR0 B0 Heded F7 R0 D EORS 2.8
DBE B0 D0DOHODD DTG0 &2 (80D DO 0.

(i) Total number of candidates appeared :400.
2D 00 Do sen Hows : 400.

(i) Number of candidates failed in all the three subjects: 12.
S0 ST D DONS oS 92550 Hows 12.

(i) Number of candidates failed only in Physics and Chemistry: 24.
2TEE T Q0 DB BTN TR0 O S350 DONS
0N @95 dodw s 24.

(iv) Number of candidates failed only in Chemistry and Mathematics: 18.
BRPODS FY RO SHOAW tieded QOO Sr|eha DONS
oo @25ider Hows 18.

(v) Number of candidates failed in Mathematics and Physics: 32.
(fe3ed B QO DO 2T BE TR0 O A DONS AN
e02isther Sows 32.

(vi) Number of candidates failed in only Physics, only chemistry and
only Mathematics are 40, 30 and 50 respectively.
278 FYQOS S8, GaraANS FY N0 HS°¢had), DB
t5eded T Q0CS S50 PONO AN @255 HoWFED
20O 40, 30, 50.

Based on the above information answer the questions from 52 to 55.
2 QoPEIG0 SO0 52 A0 55 HG50 (18 (0450 Qdrpr”
ad}.

Sub questions

Question Number : 52 Question Id : 6326864840 Question Type : MCQ Option Shuffling : No Disnlav Ouestion
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Thinl

Instruction Time : 0 .
collegedunias
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Correct Marks : 1 Wrong Marks : 0

How many candidates passed in Mathematics?

536506 GRDTS @HHBoS HOO?

(1) 288
(2) 268
(3) 254
(4) 242

Options :

1.9 1

2. %2

3. %3

4. % 4

Question Number : 53 Question Id : 6326864841 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the percentage of candidates that failed in at least two subjects?

£DH0 Bk HTHOES 2ONS 901 925550 FH0 DOeH?

1
(1) 185
1
(2) 2*2]5
1
(3) 215
1
(4) 225
Options :

1. %1

2.%2 gcollegedunias
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3.¢3
4. % 4

Question Number : 54 Question Id : 6326864842 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the percentage of candidates who passed in Chemistry?

BTN FLQOS” SNBSS 6 TSTHOS?

(1) 67
(2) 72
(3) 76
4) 79

Options :

1. %1

2.% 2

3.% 3

4. 4

Question Number : 55 Question Id : 6326864843 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

°
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What is the number of candidates that passed in all the three subjects?

S5ICH) DBEEID) 083 S'edd &:@@@& 925500 QOWS DOEH?

(1) 208
(2) 194
(3) 182
4) 176
Options :
1. % 1
2.9
3.% 3
4. % 4
Sub-Section Number : 8
Sub-Section Id : 632686537
Question Shuffling Allowed : Yes

Question Id : 6326864844 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0

Question Numbers : (56 to 60)

Coding and Decoding Problems (Marks: 10)
§°G0f, B5R0R Hshdsen (X5e¢502.e% : 10)

°
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The letters of the English alphabet A, B, C, ..., Z are given ranks
1, 2, 3, ..., 26 respectively. Then they are coded as follows:

(1) A letter with rank 'n' is coded to the letter with rank r, where r is the
remainder when 7n is divided by 26, here 1 = r = 26.
(1) For decoding reverse process is followed.

Based on this coding process, answer the questions 56-60.

&0l SPrereS e@foren ABC,.., Z ©% SOOI 1, 2, 3, ..., 26
O°50850 @0 [T, 3R 180D Do 56 Drh.

(i) T°5050 n o 5 B0 Trod r o @i B0 S §& T,
28308 r T Tn & 26D 2rHONT 5T 300 2E)Ch
1<r<26.

()AER0R % DS HABD 9 HIENK.

& G0N 8BGO 56 D0 60 HEBL e (D¥) %0
QeI Tl

Sub questions

Question Number : 56 Question Id : 6326864845 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

°
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The word FINE is coded as

FINE @3 D0 56

(1) _FITI
(2) PKTI
(3) PISK
(4) PKSJ

Options :

1. %]

2.¥2

3. %3

4. % 4

Question Number : 57 Question Id : 6326864846 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The code for the word PRISM is

PRISM &9 D50 B3ng), 56

(1) HVIEM
(2) HVLDM
(3) HVKCM
(4) HVIFM

Options :

1. % 1

2. %2

3.¢3 :
collegedunia:
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4. % 4

Question Number : 58 Question Id : 6326864847 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The string of letters that are coded as NEST is

NEST I §'6& D02 985 T°e) TBE) DeddTaO

(1)

Options :

1.v 1
2. %2
3. %3
4. % 4

BWYN
BVXL
TIC)
TIDK

Question Number : 59 Question Id : 6326864848 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

°
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The number of letters in the alphabet that are coded to themselves as

under the given code is

DS & B9ars SPIreS BASTBr 56 TovadhS @iore

QO

il Q
25 9
(3) 2
“4) 3

Options :

1. %1

2. %2

3.¥3

4. % 4

Question Number : 60 Question Id : 6326864849 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The string of letters that are coded as CRISP is

CRISP 1 §°& DAH22H S @8 Tre) Hrsro

(1) SKFYE
(2) SIFXG
(3) SKEXH
(4) SIJEYF

°
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Options :

1. %1

2. %2

3.%3

4. 4

Sub-Section Number : 9
Sub-Section Id : 632686538
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 6326864850 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Coding and Decoding Problems (Marks: 10)
§%G0h, &SGOR Hdgen (S0 : 10)

If SOLAR is coded as QMJYP, then the code for EIGHT is

SOLAR o5 QMJYP ™ 56 T EIGHT & §°%6

(1) CGEIR
(2) CGEFR
(3) BGEFR
(4) CGEFQ

Options :

1. % 1

2.¥2

3.%3

4. % 4

Question Number : 62 Question Id : 6326864851 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Coding and Decoding Problems (Marks: 10)
§°G0h0, AS’GBoR Hdsen (S0e¢0z.e0 : 10)

°
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If TENDER is coded as SDMCDQ, then the code for PURCHASE is

TENDER & SDMCDQ ™ §°& T PURCHASE %0 §°6

Options :
1. % 1
2.¥2
3.%3
4. % 4

OSRCHYQD
OTQBGZRD
ORSCHASD
OQBHCZRD

Question Number : 63 Question Id : 6326864852 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Coding and Decoding Problems
§%G0h, &SGOR Hdgen

(Marks: 10)
(e23°O02.€0 : 10)

°
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In a certain code language, if the word DISTANCE is coded as EDCINSAT,

then in that language ACQUIRE is coded as

2.5 D8N §& 27 S DISTANCE @935 52565005 EDCINSAT 86 T,
es 272 ACQUIRE %0 56

(1) EACIQUR
(2) EACRIUQ
(3) EARCIQU
(4) ERCIAQU

Options :

1. %1

2. %2

3.¥3

4. % 4

Question Number : 64 Question Id : 6326864853 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Coding and Decoding Problems (Marks: 10)
§°G0f, B5R0R Hshdsen (X5e¢502.e% : 10)

°
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If PICTURE is coded as QEDVOSA, then ELEVEN is coded as

PICTURE & QEDVOSA ™ §6& ©w, ELEVEN & §& D50

(1)
(2)
(3)
(4)

Options :
1. % 1
2.¥2
3.%3
4. % 4

ANAWAP
AMAWAP
AMAVAP
AMAWAQ

Question Number : 65 Question Id : 6326864854 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Coding and Decoding Problems (Marks: 10)
5G40, A5B0R HsHdsen (X5et0e : 10)

°
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In a code language, If GATE is coded as 10042308, then LURE is coded

in that language as

2.4 86 20 S GATE & 10042308 1 86 B ), @3 23 &S° LURE %0
56&

(1) 15212108
(2) 15241805
(3) 15242108
(4) 12182105

Options :

1. %1

2. %2

3.¥3

4. % 4

Sub-Section Number : 10
Sub-Section Id : 632686539
Question Shuffling Allowed : Yes

Question Number : 66 Question Id : 6326864855 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(d) Date, Time & Arrangement Problems (Marks : 10)
B35, NN, @85> HDaDdgeN (53S0 : 10)
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If April 15, 2022 is Friday, which day will it be after 208 days?

1 DO 2022 & DHEFB0 oons, 208 Dared éurgeh o O
@59 0E?

(1) Monday [y BV ivilele)
(2) Wednesday 2S00
(3) Tuesday velsl>Pyilele)
(4) Friday DIES0

Options :

1. % |

2. 42

3. %3

4. % 4

Question Number : 67 Question Id : 6326864856 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(d) Date, Time & Arrangement Problems (Marks : 10)
B35, DN, @HBEe> DHedsen (33020 : 10)

°
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At what time between 70 clock and 8o clock will the two hands of the

clock be at 120° angle with each other?

2.8 $BOSTE06S 7 50280 SHBC5M 8 0r® ¢3S & dhHohoeS
BOocH S0eVeN 2.8 rEEES 120° §%0S Gotron?

(1) 15 minutes after 7'o clock 7 (5020 15 aore)
(2) 16 minutes after 7'o clock 7 50620 16 aore

(3) 16% minutes after 7o clock 7 oG ® 16%5)3&)3‘&1}

(4) 15 i minutes after 7'o clock 7 joéye 15 i PAPANFN DY

Options :
1. # 1
2. %2
3.43
4. % 4

Question Number : 68 Question Id : 6326864857 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(d) Date, Time & Arrangement Problems (Marks : 10)
B, DN, @NBEE DeNdgen (3026 : 10)
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What will be the angle between the minute and hour hands when the

clock shows the time as 5:15 ( in degrees) ?

2.8 $BOSTFB0S HDDHOHO 5:15 ARSI, ADFe SHEAW
08I SNV NS 80 (BHDS) DOeh?

lCl
(1) ?25
(2) 70°
& &7y
2
4) o64°
Options :
1%
2. %)
3.9 3
4. % 4

Question Number : 69 Question Id : 6326864858 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(d) Date, Time & Arrangement Problems (Marks : 10)
SE6), NNONO, @HBEE JDsEN (s37°¢02.e2 : 10)
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E is the mother of the brother of a sister of A’'s father, then E related to

A as

A T30E) BOB FOOE PO O E @ons, A B E & e

220606 50

(1) Aunt 96555

(2) Grand daughter 0T ED

(3) Grand mother INEOWININNY)
(4) Sister-in-law a0 eN
Options :
1. %1
2. %)
3.4 3
4, % 4

Question Number : 70 Question Id : 6326864859 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(d) Date, Time & Arrangement Problems (Marks : 10)
B35, NN, @85> HDaDdgEN (S3rS02.en : 10)
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A dally train is scheduled 12:15 pm at Station A. It came 15 minutes
late on Sunday, another 20 minutes late on Monday, another 25 minutes
late on Tuesday and another 30 minutes late on Wednesday. Then the

time of arrival of the train at station A on Wednesday is

28 Bew 8257 A RAS 3G e3therB0dPonod 3B HHoHo
SDTPETYO 12:15. @6 €3 AR §0 SAB0 15 AaTen
B3SO D JOA. B0 VOST 20 Aarew, oNONY T30
S8 25 DTN HBAD 20E5rE0 RO 30 DTED eSHH O™
SDYOE. 20E B0 B2 €3 Bew A PAS & DHFS DsvoHo

Options :
1. %1
2. %2
3. %3
4.9 4

Question Number : 71 Question Id : 6326864860 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(d) Date, Time & Arrangement Problems (Marks : 10)
B35, DN, @HBEe DHadsen (5330260 : 10)
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A local train arrives at station A for every 45 minutes when Mr X came

to station A, an announcement says that a local train has departed from

station A, 18 minutes back and the next train will come at 11:41 AM.

Then the time of the arrival of Mr.X to station A is

2,8 SES Bew 1H63 45 ATOZ VAR A & THEHOO. X 0
3358 WA A B0 DY b0 56 2,8 (DB e DO "2
SES Bew 18 AT (8650 RAS A H0d 230Hen THOO
DB $T°5ed Bew ercIaNO 11:4150 SNOE”. e)ch X &
3538 RAS A B0 TOS SHAHO

ol —o £l

(1)
(2)
(3)
(4)

Options :
1. %1
2. %2
3.¥3
4. % 4

cs. 11:23 am
go. 10:56 am
te. 11:14 am
ge. 11:59 am

Question Number : 72 Question Id : 6326864861 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(d) Date, Time & Arrangement Problems

SE6), NNONO, @HBEE JDsEN

(Marks : 10)
(e30°C0g.e0 : 10)

°
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Five persons A, B, C, D, E are sitting around a table facing the centre. A
sits to the left of E and C sits to the right of B. D is between A and C

then the person on the night of E is

0CHMA S55vew A, B, C, D, E e 2.8 22O ) So| o
Erd)on®. E 8§ Qs S A n8am B § So&Tayd C
B0 a0, A, C 08 D ¢ )ar).. @) E 8 o0& )
€5cd) 958

C
O N @ >

Options :
1. ¥ 1

2.9
3. %3
4. % 4

Question Number : 73 Question Id : 6326864862 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(d) Date, Time & Arrangement Problems (Marks : 10)
B35, DN, @HBEe DHadsen (5330260 : 10)
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For real numbers a and b, define aAb = a* — b* + ab. Then the number

of real values of a such that aAa = 4 I1s

S DOWEEN a DB b B0 alb = a? — b% + ab ™ DG

alda = 4 @3NFEIED GOT a ABWEY TR DENIS HOPS

)
(2) 2
(3) 0
4 3

Options :
1. # 1

2.¥2
3. %3
4. % 4

Question Number : 74 Question Id : 6326864863 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(d) Date, Time & Arrangement Problems (Marks : 10)
B, DN, @NBEE DeNdgen (3026 : 10)
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For the natural numbers x and vy, define
1 oo 1
== y@+ﬁ and x Oy =[xy = then

(3=4)=(304) _
(3=4)13{(304)

a2 HOWFEN X DO y OO x + y =[xy + — 0O

W

— 1 5
x Q= Jxy——1F QO W,
; =

(3+4)5(304)
(1 1
@
3) =
& e

Options :
1. %]
2. %2
3.%3
4.9 4

Question Number : 75 Question Id : 6326864864 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

(d) Date, Time & Arrangement Problems (Marks : 10)
B0, AN, @85> HaDgEN (S53°S02.€% : 10)
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fx@y=(x+yv+1*andxSy=(x—y+2)?% then
1eHe D5 =

xPy=>Cx+y+1P 00000 xOy=x—y+2)° 0N S,

1S4 2B5) =

(1) 576

(2) 2116

(3) 676

(4) 2500
Options :
1. %1
2.%2
3.9 3
4, % 4

Mathematical Ability

Section Id : 63268671
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75
Section Marks : 75

Enable Mark as Answered Mark for Review and Clear

Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 632686540
Question Shuffling Allowed : Yes

Question Number : 76 Question Id : 6326864865 Question Type : MCQ Option Shuffling : No Display Questlon
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Thinl ™ T
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0 Qcollegedunias
India’s largest Student Review Platform



i) Arithmetical Ability (Marks : 35)
081365 a0 sed (83320300 : 35)

i .3 21\"3
(25x2)5.(5x4)5.(125.¥5) =

| =

e
@ @

1
(3)  (5x)3
-1
(4) (5x)s
Options :
1.¥ 1
2. %2
3.%3
4. % 4

Question Number : 77 Question Id : 6326864866 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Arithmetical Ability (Marks : 35)
08ieded araQsed (332030 : 35)

°
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X+
@ ()
(3) a*.b
4) a¥.b*

Options :
1. %]
2.¥2
3. %3
4. % 4

Question Number : 78 Question Id : 6326864867 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1) Arithmetical Ability (Marks : 35)
e9081ed6d FraNQ5ed (3000 : 35)

If x: v = 3:4, then (4x + 5y): (5x — 2y) =

X:y = 3:4 00D, (4x + 5y): (5x — 2y) =

M =
@
3 =
@ =

°
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Options :
1. %1
2. %2
3.¥3
4. % 4

Question Number : 79 Question Id : 6326864868 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Arithmetical Ability (Marks : 35)
081365 aranQsed (35°¢03.e : 35)

The sum of the cubes of three positive integers is 8072. If the ratio of the
first and the second as also of the second and the third is as 3 : 2. Then the

sum of the three numbers is

S0 585 STTOSTE) PO B0 8072, [nEiES, B0k DB
B0, 0ehd FJPTT05 DA 2.569,52.¢3 3:2 P S0H. @)
ST oW A3NE) JnedO

ey 36
(2) 38
(3) 40
(4) 42

Options :

1. %1

2.¥2

3.%3

4. % 4

Question Number : 80 Question Id : 6326864869 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Thinl- ™~ - ™" 4 ME=i—mees
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0 .
8 gcollegedumas
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i) Arithmetical Ability (Marks : 35)

081365 a0 sed (83320300 : 35)
::':i: = a+ b, then a—+b=
iiﬁ =a++Vb ®0o0S, a—b =
(1) 8 + /75
(2) —8++75
(3) —8—+75
(4) 8 — 75

Options :
1. %]
2. %2
3.¥3
4. % 4

Question Number : 81 Question Id : 6326864870 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Arithmetical Ability (Marks : 35)
90851e36d e Q5ed (3°02e0 : 35)
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If (E)x_l = (E)x_g, then the value of x is

(g)x_l = G)x_a 90N, ¥ TBEY Desd
M 3
(2) 1
(3) P
@ I

Options :
1. %1
2. %2
3.¥3
4. % 4

Question Number : 82 Question Id : 6326864871 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Arithmetical Ability (Marks : 35)
081365 a0 sed (83320300 : 35)

°
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The product of divisors of 127 is

127 Q30E) 2735°) OO0

(1) 635
(2) 508
(3) 127
(4) 762

Options :

1. % 1

2. %2

3.¥3

4. % 4

Question Number : 83 Question Id : 6326864872 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Arithmetical Ability (Marks : 35)
08ieded araQsed (332030 : 35)

The number of positive divisors of 680 other than one and itself is

2,863 DO T DOWE SPEOTE 6805 (1€ B 2785 DOW

(1) 14
(2) 16
(3) 18
4 12

°
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Options :
1.v1
2. %2
3.%3
4. % 4

Question Number : 84 Question Id : 6326864873 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Arithmetical Ability (Marks : 35)
905M1e3ed areQsed (35°¢03.e : 35)

LCM of m = 17.23%2.43, n =312.23 .47 is
We IS AR =TT 8 AT & 5D

(1) 2t At argn’t
(2) 17.23.43.47.31
(3) 17.43.47

(4) 23
Options :
1.¥ 1
2. %2
3.%3
4. % 4

Question Number : 85 Question Id : 6326864874 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Arithmetical Ability (Marks : 35)
@08eded a0 5ed (33030 : 35)

°
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The number among the following which leaves the remainder 3 when

divided by 5, 6 and 8 is

5,6 SHBCW 8 T 2rAoDSNE, & (8o ¢3S 3 &% 300 AT

QO

(1) 243
(2) 245
(3) 256
(4) 265

Options :

1.¥ 1

2. %2

3.%3

4. % 4

Question Number : 86 Question Id : 6326864875 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Arithmetical Ability (Marks : 35)
@05ieded a0 5eh (30 2e ; 35)

°
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The sum of 5 consecutive even integers is 50. What is the sum of their

squares?
5 o3¢0 A8 Jopsed JnBo 50. ¢3S 5T INBD0hH?

(1)480
(2) 540
(3) 720
(4) 960

Options :
1. ¥ 1
2.9 2
3. %3
4. % 4

Question Number : 87 Question Id : 6326864876 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Arithmetical Ability (Marks : 35)
081365 aranQsed (35°¢03.e : 35)

°
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If the numerator and the denominator of a fraction are increased by 10%

and 20% respectively, the number becomes ﬁ. What was the original

number?

2,8 D3NS 053550 B0 FT°D SHIT 10% HBTSD 20%
2008, €3 HoWS Z 0H 0. € )0 E?

2
45

11
(1) =
8
(2) i
7
E)
3
I
Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 88 Question Id : 6326864877 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Arithmetical Ability (Marks : 35)
90851e36d e Q5ed (3°02e0 : 35)

°
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Which of the following fractions is largest?
5 7 94
T-l

1’13’9

& (808 Dy oS A8 NS0 DE?
7 9
-ﬁ:ﬁr

1| 1
O =

Options :
1. % 1
2. %2
3.¥3
4. % 4

Question Number : 89 Question Id : 6326864878 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Arithmetical Ability (Marks : 35)
@05ieded a0 5eh (30 2e ; 35)

°
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The descending order of the following fractions is

10°'14'9°11°13

&3 (808 D)0 @38 |50

Y oseiastip
9 7 8 6 5
&) st
6 5 ¥ 5§ 8
(—D)jl HJE:E:E:E
8 7 6 9 5
5 L e o
Options :
1. # 1
2.% )
3.8 3
4. % 4

Question Number : 90 Question Id : 6326864879 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1) Arithmetical Ability (Marks : 35)
08365 a0 5ed (S3°02e0 : 35)
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If x1s 16% less than y, then y is what percent more than x ?

y 83 16% 680705 x @003, x ) ¥ D0eh F°eH0 DB)037?

Options :
1. ¥ 1
2. %2
3. %3
4.v 4

16
g
3

18—
19

12 o
21

Question Number : 91 Question Id : 6326864880 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Arithmetical Ability
081365 aranQsed

(Marks : 35)
(er0e0 : 35)

°
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In the year 1990 the population of cities X and Y were same. From 1990 to
2000 the population of X increased by 60%, while population of Y decreased
by 60%. In the year 2000 the population of Y is what percent of population
of X?

1990 03¢ Y550 BOD SHTEN X, Y ©S 232> D570 Sob.
1990 0& 2000 HOHEIBS8D SB% X S 2arer 60% DOHS VS
272 60% A0, 2000 H0IeH 150 S Y BWE), 2rer X By

277 DO FoeheN?

(1) 60
(2) 40
(3) 50
(4) 25

Options :

1. %1

2. %2

3. %3

4.v 4

Question Number : 92 Question Id : 6326864881 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Arithmetical Ability (Marks : 35)
@08ieded aranQsed (333°¢0).e : 35)
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Cost price of first article is thrice the cost price of second article. If there is
gain of x% on second article and loss of 3x% on first article, then gain

percent or loss percent, in the total transaction is

208 YD §d) O BOCHD I NHD T OBB S0rCOTLY SOd.
BOCHS 5 NY x% €250 SHBAN T CIE3 SN YD 3x% SN0 S, Se
FINB0 erFBAS 750 B S TS0

(1) x% gain x % €250
(2) 2x% gain 2x% 250
(3) x% loss x% 9a)0
(4) 2x% loss 2x% cHa) O

Options :

1. %1

2.% 2

3. % 3

4.9 4

Question Number : 93 Question Id : 6326864882 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Arithmetical Ability (Marks : 35)
90851e36d e Q5ed (30200 : 35)
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By selling an article for Rs.6800 a trader loses 15%. For how much should

he sell to get a profit of 25% (in rupees) ?

2,8 25850 2,8 50 YeDd Br.6800 ©FY @B 15% o) FTCD. 25%
250 SPOCHEIZD € HN D DOBED 9525 (B eeS') ?

(1) 9500
(2) 9750
(3) 10000
(4) 10500

Options :
1. # 1
2. %2
3.43
4. % 4

Question Number : 94 Question Id : 6326864883 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Arithmetical Ability (Marks : 35)
081365 a0 sed (83320300 : 35)

°
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A, B and C enter into partnership. A invests some money at the beginning,
B invests double the amount that of A after 6 months and C invests thrice
the amount that of A after 8 months. If the annual profit is Rs.27000, then

C's share is (in rupees)

A, B, C oo 2.8 €508 Fsard0S8 (D33008. SndE A 506
52000 EPDE DA, 6 T ehared A chan By Bockh TV B
DB 8 Tred 5T 565 A H0 S0COTEY ¢hz2n)en C DEPDET™ 20638,
06365 YT 0EPS 7250 Gr.27000 ©oN&, C WWE), TEF (Gr.eeS)

3

(1) 8625
(2) 9000
(3) 10800
(4) 11250

Options :

1. %1

2.¥2

3. %3

4. % 4

Question Number : 95 Question Id : 6326864884 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1) Arithmetical Ability (Marks : 35)
e9081ed6d FraNQ5ed (3000 : 35)

°
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A, B, C enter into a business with capitals Rs.8000, 9000, 12000 respectively.

After 3 months D joins the business with a capital of Rs.18000. If there is a

profit of Rs.2550 at the end of the year, then the difference between the

shares of A and D in the profit, in rupees, Is

A, B, Cen SO &57.8000, S3r9000, $3.12000 e DER2HOS 2,8
530S § (DBFODB. S0 T 0T seh 3.18000ERDAS D &3
TP B0S DD, N0 YT 0T €37250 B.2550 T GO, A, D ©

eFeFE) STEFE S0C5S BO(BF.OS)

(4)

Options :

1.v1
2. %2
3. %3
4. % 4

330
440
220
385

Question Number : 96 Question Id : 6326864885 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Arithmetical Ability
08ieded araQsed

(Marks : 35)
(e30° 000 : 35)

°
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Pipe A can fill a tank in 5 hours, pipe B in 10 hours and pipe C in 30 hours.
If all the pipes are opened at a time, in how many hours will the tank be

filled?

2059 A 2.8 S 5 fotrersS, 25 B, 10 HotredeS sHBam 5y C 30
K0GOS QO fered). Q) VNN 238 BEW, D), HobreeS e
SE3 DOCHAOE?

(1) 2
(2} 2.5
(3) 3
(4) 35

Options :

1. %1

2. %2

3.¥3

4. % 4

Question Number : 97 Question Id : 6326864886 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Arithmetical Ability (Marks : 35)
081365 aranQsed (35°¢03.e : 35)

°
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Two taps A and B can fill a tank in 2 hours and 3 hours respectively. Both
taps are turned on and after 45 minutes turned off due to power cut. After
30 Minutes, only tap A is turned on. Time taken by Tap A to fill the

remaining tank is

BOCH SEren A, Bed 2.8 S SO 2 K00 HBOW 3 Ko
Q0D Hfere). BO deren BSOS 45 JWared dared §T0LN 56
S5O e FTrow. 30 AT BT ST A 2,538 SO, &3 &3
S'D e 2T, DODTTAE SET A S3NER DDAHO

(1) 42 minutes 42 QDadaren
(2) 48 minutes 48 QaDorew
(3) 38 minutes 38 Qadarle
(4) 45 minutes 45 Dadaren

Options :

1% 1

2. %2

3. %3

4. 4

Question Number : 98 Question Id : 6326864887 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1) Arithmetical Ability (Marks : 35)
e9081ed6d FraNQ5ed (3000 : 35)
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Murali travelled from city A to city B at a speed of 40 kmph and from city
B to city C at 60 kmph. What is the average speed of Murali from A to C
given that the ratio of distances between Ato Band B to Cis 2: 3 (in kmph)

Is

SNGY @ S8 SHB0 A OB SiiB0 BE 0% 40 8.50. S0
30805 SHKB0 B OB SHKB0 C B0 051 60 8.0.0 Jiod
D03 C. A DOG B § SO0 B cvod C § e cororen 2 : 3
DAIBS &OB), NG A DHOG C B 1DATEIOTHEFE Sifew

ST00e8(110./8.20.)?

(1) 48
(2) 50
(3) 52
(4) 56

Options :

1. %1

2.¥2

3. %3

4. % 4

Question Number : 99 Question Id : 6326864888 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Arithmetical Ability (Marks : 35)
08ieded araQsed (3302 : 35)
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A started running towards south at 7:00 am, B started running towards
south at 11:00 am. At what time will they meet if the speeds of A and B are

inratio 3 :77?

&C0D0 7 Hoee5d A G800 I HOTBL0 Jdden DEFEL.
&S00 11 503D B 58 £90 J) HOTRE0 Jndien EFCD. A B
STe 3: 7 AAIBS &OB), &) DNOHOES 7&K EeNNZ0EFH?

(1) o0.1 pm

(2) od).2 pm

(3) o.12:30 pm
(4) o20.1:30 pm

Options :
1. %1
2.¥2
3. %3
4. % 4

Question Number : 100 Question Id : 6326864889 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1) Arithmetical Ability (Marks : 35)
08365 a0 5ed (3000 : 35)

°
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A alone can complete a job in 12 days. After working for 2 days A is joined
by B and they completed the job in 6 days. Had B worked alone how many

days are needed to complete the job?

A 053 25 HAD 12 oS 8 Tobhiierdd. Ao Teren H
DS 0756 BDO €3 DA TODD D 6 HredeS Hrd DK, B
283 DD TY B0 & A b TSSO D) Teren
2950 BDOTBE?

(1) 14
(2) 16
(3) 18
(4) 20

Options :

1. %1

2. %2

3.¥3

4. % 4

Question Number : 101 Question Id : 6326864890 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Arithmetical Ability (Marks : 35)
081365 aranQsed (3¢50 .e : 35)

°
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A works twice as fast as B. working together they complete a job in 14 days.

In how many days will B, working alone complete the job?

B ) 88305 o A DD DI, OOEr DD 2.8 HA 14
FarereS DoNH®. B 258 & HAJ D) F2redeS 58 TAwen?

(1)
(2)
(3)
(4)

Options :
1. %1
2. %2
3. %3
4.9 4

12
18
26
42

Question Number : 102 Question Id : 6326864891 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

i) Arithmetical Ability
081365 aranQsed

(Marks : 35)
(er0e0 : 35)

°
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ABCD is a quadrilateral in which the length of the diagonal AC=1.4 meters
and the lengths of the perpendiculars drawn from B and D on AC are 80 cm

and 50 cm respectively. The area of ABCD (in sq. m.) is

ABCD 2,8 9680350230, DEGO AB 8°¢5s9) 1.4 &0. HBO50 AC 30 BB

D © DOG ©02) B PN SBIMT 80 0.2, SHBCH 50 O.M.
059¢% ABCD G305y BF©550 (29.00.065)

(1) 0.91
(2) 9.1
(3) 91
(4) 91.1

Options :

1.v1

2. %2

3. %3

4. % 4

Question Number : 103 Question Id : 6326864892 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Arithmetical Ability (Marks : 35)
081365 aranQsed (3¢50 .e : 35)

°
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A rectangular lawn of dimension 80m x 60m has two roads each of 10m
wide are made in the middle and parallel to its length and breadth. Then

the area of the roads in sq. m is

80 ED x 60 DS Foreden EORS 2.8 AOY M BIRTSE DDHES
Q) &PESY, DCHeN)OB DAT0BBOMT SES5ES 10 erd Jehen) Ko
2,8 278D DEIGDINCD, € 27ed BFL0, V.S

(1) 4800
(2) 3500
(3) 1400
(4) 1300

Options :

1. %1

2. %2

3.%3

4.9 4

Question Number : 104 Question Id : 6326864893 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Arithmetical Ability (Marks : 35)
90851e36d e Q5ed (30200 : 35)

°
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Volume of a right circular cone having base radius 70 cm and curved surface

area 40040 cm? is

25 P5rQ0 70 0.20. 8O SEeHed B0 40040 T5. 0., €N
T 2505 ©02) e $0516Y) TBNEY S DBSETEI0 (0 o.M

(1) 823400
(2) 824000
(3) 840000
(4) 862400

Options :
1. # 1
2. %2
3. %3
4.v 4

Question Number : 105 Question Id : 6326864894 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Arithmetical Ability (Marks : 35)
081365 a0 sed (83320300 : 35)

°
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A wall of dimensions 25m x 2m x %m Is to be built by using bricks each of

whose dimensions are 20cm x 10 em x 7.5 cm. The number of bricks are

needed to build this wall is

20 0.5, x 10 V0., x 7.5 D0, Foresercd FOS @tniersS

25 5. x 2 8. x gc;‘b. 065009 S FeHD EOTRE 5300 @enEe

QOYE

(1)
(2)
(3)
(4)

Options :
1. %1

2. %2
3. %3
4.9 4

32000
30000
28000
25000

Question Number : 106 Question Id : 6326864895 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Arithmetical Ability
081365 a0 sed

(Marks : 35)
(e3°0e0 : 35)

°
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A solid consists of a circular cylinder with a right circular cone exactly fitted
on the top. The height of the cone is h. If the total volume of the solid is
three times the volume of the cone, then the height of the circular cylinder
Is

2,8 HEe U0 D, ©02) HSAE 0N DB ) DGO 2.8 Do
&O8). €8 F0a0) OBNEY D) h. €8 D0 ABWEY o8 N 8 ATe20,
FOINY N DBITETRDE NTCH BEIOWAIYCR), XN QD0 D)

1

M h

(2) %h

(3) gh

4 Zh
Options :
1. % 1
2. % 2
3.3
4. % 4

Question Number : 107 Question Id : 6326864896 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Arithmetical Ability (Marks : 35)
081365 a0 sed (333°¢50y.e : 35)

°
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A metallic solid cylinder of 14cm diameter and 32cm height is cast into 77

solid cubes of equal size. Then the length of side of the cube (in cm) is

SO SAFE DOHDAS 14 DO, 37590, 32 0. DD S
2.8 NS P, 23 D850 ES 77 HoDTEN ™ fd 1S,
QD € D30NS TB0E, 2HB0 P (0..0)

(1) 6
2) 4
(3) <
4 9

Options :

1. %1

2.¥2

3.%3

4. % 4

Question Number : 108 Question Id : 6326864897 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1) Arithmetical Ability (Marks : 35)
e9081ed6d FraNQ5ed (3000 : 35)

°
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If the diagonals of a rhombus are 30 cm and 24 cm. Then its area, In sq. cm.

is

28 Do DHENIBD) JET e 30 V0., HBAD 24 O.D.EW
290N IR, TP BT 0, 1. V0.0. o,

(1) 180
2) 720
(3) 360
(4) 1440

Options :
1. % 1
2. %2
3.¥3
4. % 4

Question Number : 109 Question Id : 6326864898 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Arithmetical Ability (Marks : 35)
08ieded araQsed (332030 : 35)

°
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The remainder when 33%* leaves upon division by 7 is

3332 5 7 B 2RO SNCH 0T 30

Options :
1.1
2. %2
3. %3
4. % 4

Question Number : 110 Question Id : 6326864899 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
1) Arithmetical Ability (Marks : 35)
08365 a0 5ed (S3°02e0 : 35)

The digit in the units place of 73 is

739 & 2,88 S0 R @03

(1 7

—
s
75 R 9

°
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Options :

1. %1

2. %2

3.%3

4.9 4

Sub-Section Number : 2

Sub-Section Id : 632686541
Question Shuffling Allowed : Yes

Question Number : 111 Question Id : 6326864900 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
22809, 235 E30H DG seh (530200 : 30)

If A,B,C are three subsets of a set X, then
A= B) = —A~@—0)) =
(Here A" =X—A)

A,B,C @0 2,8 D0 X 50 L e B,
{A-B)-C}-{A-(B-0)}=
(@515 A' =X — A)

(1) @
(2) X
(3) AuBUC
(4) ANBNC
Options :
1.¥1
2. %2

3. %3
4. % 4 gcollegedumas
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Question Number : 112 Question Id : 6326864901 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
2309, 2EE30D wlDG 5 (S3C0e0 : 30)

Let U = {x|x is a natural number < 20}. Define
A = {x|x € U and x is a prime number},
B = {x|x € U and x is an even number},

and € = {x|x € U and x is amultipleof 3}. Then(AUB)NC =

U = {x] 283 B° @0HET™) 550 30 daT23 DO x } @150k
A={x|x €U DO x 2,8 DTV QODS 3,

B = {x|x € U sHOOW x 2,8 H8 Ho§ } 0B

C ={x| x€U 08w 3 B8y HeF30 x } 1 AV SD0TDSW. @),
(AUB)NC =

(1) 3. 6,912, 18}
(2) 13:6.9. 15,18}
(3) {2,3,12, 18}
(4) {3, 6, 12, 18}

Options :
1. %1
2. %2
3.%3
4.9 4

Question Number : 113 Question Id : 6326864902 Question Type : MCQ Option Shufflin

Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Thinl :
collegedunias
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Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
22805, 238 0eE30H T 5eh (53260 : 30)

If the roots of the equation x* — 10x3 + 35x% — 50x + 24 = 0 are
1, 2, 3 and 4, then the roots of the equation

24x* —50x3 4+ 35x2 —10x+ 1 =0 are

x*—10x3+35x2 —50x + 24 =0 © dDEB0 Sreren 1,2, 3,4
e @O, 24x* — 50x3 +35x2 — 10x + 1 = 0 @3 S EG0
A3NE) TETeD

(1) —1;—Z,—~3.and —4 —-1,-2,-3 805 — 4
(2) e i =1 _1__1__ D85y — 1
27 3! 4(1”, 2, 3 Z
R : ~ 560 :
(3) _.l.l 2:__(?-?1(]' = == 1' 21 ST E
3 4
2L ond. R 5cm
G % 1 1 i, 1
(4) l,z.gand - '373
Options :
1. %1
2. %2
3.% 3
4. % 4

Question Number : 114 Question Id : 6326864903 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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i) Algebraic and Geometrical Ability (Marks : 30)
22805, 2B OD AT seh (S350 : 30)

How much is to be added to the polynomial

(x + 2)(x + 4)(x + 6)(x + 8) to make it a perfect square?

(x +2)(x + 4)(x + 6)(x + 8) @ DITVIE NOJ°Q B0 5ITFVE DOeh

DI INIB NN

(1) 16
(2) 12

Options :
1.v1
2. %2
3.%3
4. % 4

Question Number : 115 Question Id : 6326864904 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time :

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
22809, 235 E30H DG seh (530200 : 30)

°
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If (x — 1) and (x — 2) are the factors of x* — 5x% + 4x? + ax + b then, % =

(x — 1) D8 (x —2) @ x* — 523 +4x% + ax + b Q35

SeSETPOES0N N LI0NI)CD, % =

(1) 4
(2) -4
3) 1
4) -1

Options :

1. %1

2. %2

3. % 3

4.9 4

Question Number : 116 Question Id : 6326864905 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
22809, 235 E30H DG seh (530200 : 30)

°
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If (x2 —3x + 2) is a factor of x® — 6x% + ax + b then a? + b%=

x2 —6x2 +ax+ b S50 (x2 — 3x + 2) 2,8 SPOT050 0NN,

a® + b*=
(1) 157
(2) 85
(3) -85
(4) =151
Options :
1.v¥1
2. %2
3. %3
4. % 4

Question Number : 117 Question Id : 6326864906 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
D805, 2 eBOH AT seh (S0 : 30)
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The digits of a 3 digit number are in strict descending order. Then the
largest prime that always, divides the difference of the given 3-digit number
and the 3 digit number obtained by reversing the digits of the given

number is

28 rcose HoESD @oSen @ITTD (EoS Ko, es
NPC0TO QOB DOV, &8 DOV 0TSO (B3R T )R
ODNOT HOWEDH BVIVIHCD ST DoWED dOJIGT 2rhod

Q0N (DTS dowg

(1) !
(2) 11
(3) Lt
(4) 97

Options :

1. %1

2.¥2

3.%3

4. % 4

Question Number : 118 Question Id : 6326864907 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
2809, 238 E30H aTDGseh (S3C02e0 : 30)
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If length and breadth are reduced by 2 units each, area of rectangle reduces

by 22 sq. units, then the perimeter of the rectangle is

28 O DMGIN0 £y, Jden) O 2 ArdL TS
SHODICD, e BE VB0 [ 50 22 .00 NS, es HY
LD G|D0 THEY Fered

(1) 26 units
(2) 24 units
(3) 28 units
(4) 30 units

Options :

1.¥1

2. %2

3% 3

4. % 4

Question Number : 119 Question Id : 6326864908 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
D809, 25E30H aTDG 5 (53020 : 30)
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If the solution of the system of equations

19

=+(3)

34_2}::7; =4isx =aandy = 8 then, a? + B2 =

DWESET S5 T+ 2y =7; i =4 BoE) TS

x=a OO y =4 ©ons, a2+ p2 =

(1) 29
(2) 34
(3) 25
(4) 169

Options :

1. % 1

2. %2

3.¥3

4. % 4

Question Number : 120 Question Id : 6326864909 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
22809, 235 E30H DG seh (530200 : 30)
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The third term of Geometric Progression is 4; then the product of its first 5

terms in that Geometric Progression is

28 6 (BAS 00°¢Hsd D0 4 ONINED, €8 (HED 13HS D e 5

DT OO

n 4
2 4
(3 4
(4) 4

Options :

1. %1

2. %2

3.¥3

4. % 4

Question Number : 121 Question Id : 6326864910 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
D809, 25E30N alDG s (S0 : 30)
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If the ratio of the sum of the first 3 terms of a geometric progression to the
sum of the first 6 terms is 8 : 35, then the common ratio of that geometric

progression Is

2,8 e 3RS Jncse3 3 Hore INTIE HBAH IS 6 e
SNDE fe) AN 8 : 35 @O, €8 MHED BAS s D)

— ——
aJ [
o p—
[T I "~ T [ 5 T SN O [

2
!

Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 122 Question Id : 6326864911 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
2809, 2378 E30H a0 5eh (SC02e0 : 30)

°
Qcollegedunlas
India’s largest Student Review Platform

-



The radius of the circle is 21 cms. The angle subtended by an arc of the

circle at the centre is 60°. The length of its arc is

2,8 59 7580 21 V0., € HYB0 S DT w0, &8 59 Soso
358 60° 50 TRSEONS, € 59 TN TP V0.0

(1) 30
(2) 35
(3} 22
4) 20

Options :

1. %1

2. %2

3.93

4. % 4

Question Number : 123 Question Id : 6326864912 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
D805, 2B OD aTDseh (S350, : 30)

4(sin* 30° + cos®* 60°) — 3 (cos? 45° — sin? 90°) =

gy
(2) -1
(3) 1
@ 2

°
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Options :
1. %1
2. %2
3. %3
4.9 4

Question Number : 124 Question Id : 6326864913 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
22805, 2B OD AT seh (S350 : 30)

IfA+B :%  then(1+tand) (1+tanB) =

A+B :E @ONYCD, (1 +tand) (1 +tanB) =

(1) —2
2y =4
(3) 1
4 2

Options :

1. ¥ 1

2. %2

3. %3

4.9 4

Question Number : 125 Question Id : 6326864914 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
22805, 2B OD AT seh (S350 : 30)
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If the angles of a triangle ABC are in arithmetic progression then

cosC —cos A

sind —sinC

1832220 ABCS Q Seren @08 3HS &5) 00,

cosC —cos A

sind —sinC

(1) 3
(2) 1
1
B &
1
@ -%
Options :
1.¥ 1
2. %2
3.%3
4. % 4

Question Number : 126 Question Id : 6326864915 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
22809, 235 E30H DG seh (530200 : 30)

°
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The angle of elevation of top of a mountain cliff from a point 200 m from

its foot is 45° The height of the cliff (in meters) is

2,8 DS 565 50 DO 200 . S0 Bd) DOCHY HOD & HE seh
RS €3 $5°00 45° @O, DE 56 VB0 D) (D ©S)

(1) 175
(2) 200
(3) 220
(4) 250

Options :

1. % 1

2.9 2

3.%3

4. % 4

Question Number : 127 Question Id : 6326864916 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
22805, 238 0eE30H T 5eh (53260 : 30)
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The area of an equilateral triangle is 256v3 sq. cm., then the perimeter of

that triangle is

2,8 DNV | BEDBO FT°OLO 256v3 V.0, A0S, €

1832023 TEY TOéd (0.8.o¢)

(1) 32
(2) b4
(3) 96
(4) 128

Options :

1. %1

2. %2

3.¥3

4. % 4

Question Number : 128 Question Id : 6326864917 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
22809, 235 E30H DG seh (530200 : 30)

°
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If the perimeter of a right angled triangle is 60 cm and its hypotenuse is 26

cm. then the area of the triangle, in cm?, is

60 0.2D. LY Frehed EORS ©028% (832H230 TBEY G0 archs

26 0.2, oM, € (B2HB BFTOL0 (5. V0., o)

(1)

Options :
1. %1
2.¥2
3.%3
4. % 4

60

120
180
240

Question Number : 129 Question Id : 6326864918 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time :

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability
DBOD, 23D A seb

(Marks : 30)
(e35° 00 : 30)

°
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If the angles of a quadrilateral are in the ratio4:5:10: 11,

then the angles are
4:5:10: 11 DAIB S Serrercd S t9ei)20S ) Searen

(1) 36°% 60° 108°, 156°
(2) 48° 60° 120° 132°
4 529600, 12201267
(4) 60° 60° 120° 120°

Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 130 Question Id : 6326864919 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
D809, 25E30H aTDG 5 (53020 : 30)

°
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ABCD is a parallelogram in which AB = 2x +5; CD =y + 1;
AD =y +5 and BC = 3x — 4. Then the lengths of the sides of the ABCD

dare

ABCD 3705 9ein)20eS AB=2x+5; CD=y+1; AD=y +5
A0 BC = 3x — 4. 0N, ABCD A30E) 9070 &PCha)en)

(1) 13,30
(2} 13,35
3 3130
(4) 31,35

Options :

1. % 1

2. %2

3.%3

4.9 4

Question Number : 131 Question Id : 6326864920 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
22809, 235 E30H DG seh (530200 : 30)
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In the following circle with center O, if ZAOB = 30° then the area of the

shaded region (in sq.cm.) is

0 30|50 o 1808 H90cS” LAOB = 30° @onSY, & BADDES

Sr0es BF 50 (9. 00.2.0¢F)

13
G
11
@
7
3) 3
9
4 -
Options :
1. %1
2. %2
3.¥3
4. % 4

Question Number : 132 Question Id : 6326864921 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
2309, 2EE30D wlDG 5 (S3C0e0 : 30)

°
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If a semi circle is drawn on the side of a square, which has a diagonal of

length 12 cm, the area of the semi circle, in cm?, is

DEGO s 12 0.a0.1 EONS 2.8 MBI 2020 2 @8 HyTR)

ARV, @93 59
(1) F2n
(2) 36m
(3) 18n
(4) O
Options :
1. % 1
2. %2
3.%3
4.9 4

= &
A0 . 0.90.06

Question Number : 133 Question Id : 6326864922 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability
DB, 23D Ao 36b

(Marks : 30)
(33200 : 30)

°
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If the triangle with the vertices A(2,x), B(2,6),C(2 ++/3,5) is equilateral

then value of x is

A(2,x),B(2,6),C(2 ++/3,5) ©& Boryenn EONS (832D20 Dear

1€320230 0N\, x DN

(1) 0
(2) 2
(3) 4
(4) 5

Options :

1. %1

2. %2

3.¥3

4. % 4

Question Number : 134 Question Id : 6326864923 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
2809, 238 E30H aTDGseh (S3C02e0 : 30)

The point which divides the line segment (3, 5), (4, 7) in the ratio 2 : 3

internally Is

(3, 5), (4, 7) @ DoDHOD D B 2 : 3 DAIBS” oS0
223220t DOHAGFISEN

Options :
1. # 1

2.¥2 Qcollegedunias
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3. %3
4. % 4

Question Number : 135 Question Id : 6326864924 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
2809, 238 E30H aTDGseh (S3C02e0 : 30)

Let A (-2, -2), B (3, 6) and C (8, 2) be three points. Let the slope of AB = m;

and the slope of AC = m2. Then mi:mz =

A (-2, -2), B (3, 6), C(8, 2) @0 a3 ¢ DocHYHeN. AB a*e) = my

B0 AC e = mz2 @S0G, @)D, mr1:m: =

Options :
1.v¥1
2. %2
3. %3
4. % 4

Question Number : 136 Question Id : 6326864925 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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i) Algebraic and Geometrical Ability (Marks : 30)
22805, 2B OD AT seh (S350 : 30)

The Y-intercept made by the straight line passing through the point (3, 2)

and perpendicular to the line y=x is

(3, 2) Do HOTTIeAT y=x BDZL ODOMT GOT, VTP T

Y-e90653030

—
M2
p—
Wy

——
()

La—
W

Options :
1. %1
2.¥2
3. %3
4. % 4

Question Number : 137 Question Id : 6326864926 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
22805, 2B OD AT seh (S350 : 30)

°
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The equation of the line passing through the point (1, 2) and perpendicular

tothelinex+y+1=0is

(1, 2) DocHS HoT %6°, x + v+ 1 = 0 ODH ©ODOTT GOT DS
S &S0

(13 w—x31=0D
(2) y—x—-1=0
B) y—x42=0
4 y—x-2=0

Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 138 Question Id : 6326864927 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
D809, 25E30H aTDG 5 (53020 : 30)
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Equation of the line perpendicular to the line y = 3x + 17 and which makes

an intercept of length 6 units on positive Y-axis is

y = 3x 4+ 17 ODEO ©02DOM 0T GO Y-8 0 ) 6 ORI © 90683
DO, DO & Bar HadS0

(1) x—3y+18=0
(2) c+3y=18 =4
(3) 3x—y+6=0
(4) 3x+y—6=10

Options :
1. %1
2.¥2
3. %3
4. % 4

Question Number : 139 Question Id : 6326864928 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
D805, 2B OD aTDseh (S350, : 30)
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The equation of a line which is parallel to X-axis and cuts the positive side

of the Y-axis at 7 units from the origin is

X-95°8 DATr0SB0MT GO, S Y-95°0) 5 2o ods 7
ORTE) G0 DOBOT HEFTH® DedESe0

(1) )
2y ¥=7
(3) x+y=7
(4) e d o

Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 140 Question Id : 6326864929 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
2809, 238 E30H aTDGseh (S3C02e0 : 30)

°
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The equation of the line passing through (p, q) and having slope as V3 is

V3 srent 86 (p,q) DocHsY HOTE Y SB Tar SEEe0

M y-p=pG-a
@ v-q=%G-p)

3) y—q=+3(x—p)
@4 y-p=+3(x-9q)

Options :

1. %1

2. %2

3.¥3

4. % 4

Sub-Section Number : 3
Sub-Section Id : 632686542
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 6326864930 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ii) Statistical Ability (Marks : 10)
PO FETY Q 0P 5ed (5S02.e0 : 10)

°
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In a statistical data 2, 4, 6, 8, 10 occur with frequencies 1, 3, 5, 7, 9

respectively, then the arithmetic mean is

2.8 rowsE T SToFoS 2, 4, 6, 8, 100 SHNIM™ 1, 3, 5 7, 9
TH2 )T N &) Q0NS, @) 0% SN 5N0

(1) 6.8
(2) 7.6
(3) 6.7
(4) 7.8

Options :

1. %1

2.¥2

3. %3

4. % 4

Question Number : 142 Question Id : 6326864931 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Statistical Ability (Marks : 10)
TOWEET Q TP 5ed (530200 : 10)

°
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The average age of 4 boys A, B, C, D is 13 years, while the average age of B,
C, D is 14 years then the age of A is

A, B, C, D ®F 3e0HAD 2e0 S e S0 13 D0sdes yoren ST, B,
C, D @ A1 00D 14 D06eI€5 )TN @O ), A QNS G )

(0. oS

(1) 10
(2) 12
(3) 14
(4) 16

Options :

1.1

2. %2

3. %3

4. % 4

Question Number : 143 Question Id : 6326864932 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ii) Statistical Ability (Marks : 10)
PO FETY Q 0P 5ed (5S02.e0 : 10)

°
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The arithmetic mean of a data of 100 observations is 23. If each of the
observations is multiplied by 5 and then 2 is added to each observation,

then the arithmetic mean of the new data is

100 DBFOIO O &) .8 OTF04D) 0¥ DGLN0 23. (D
DHBROID 5 Tedb MHF0D, 2 & EDDINCH ©DoOH  Areddd
HBZOIOD EDR &d) ST0ED) @08 N0

(1) 125
(2) 121
(3) 117
(4) 51

Options :
1. %1
2. %2
3.¥3
4. % 4

Question Number : 144 Question Id : 6326864933 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Statistical Ability (Marks : 10)
TOWEET Q TP 5ed (530200 : 10)

°
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A data consists of the natural numbers of the form 2k + 1 with frequency

k for1 = k = 15, then the median of the data is

1<k <1555 2k+1 SPD0S R O5723 Sowgen k IS0 2.8
STOFOS SBILLONS, €8 STOFD) C5edS0

(n 1B
(2) 21
(3) 23
(4) 25

Options :
1. %1
2. %2
3.¥3
4. % 4

Question Number : 145 Question Id : 6326864934 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Statistical Ability (Marks : 10)
TOWEET Q TP 5ed (530200 : 10)

°
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The median value for the following data is

1508 A&0da) NG 5Hd0

X 16 10 14 17 20 15
f 9 3 5 4 2 10
(1) 14
(2) 15
(3) 12
4) 20

Options :

1. % 1

2.2

3.%3

4, % 4

Question Number : 146 Question Id : 6326864935 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

i) Statistical Ability
ODET Q) TP 5ed

(Marks : 10)
(er 00 : 10)

°
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The arithmetic mean and median of a frequency distribution are 20 and

30 respectively. The mode of this distribution is

208 TPz 02T e 908 DA £o)ed) NBAIW G §HiEe

DM 20, oGO3 30 €D LION Y CD, €3 2T dey) 2FTVFE0

(1) 25
(2) 29
(3) 40
(4) 50

Options :

1. %1

2. %2

3. %3

4.9 4

Question Number : 147 Question Id : 6326864936 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Statistical Ability (Marks : 10)
PO FETY Q 0P 5ed (5S02.e0 : 10)

°
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The mode of the following data is

1500 ATP0Fa) 2raT0FEN DN

X

12

15

Cumulative frequency
QOED 2550

13

17

20

22

() =2
(2) 5
(3) 7
4 38

Options :

1.¥1

2. %2

3.%3

4. % 4

Question Number : 148 Question Id : 6326864937 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

i) Statistical Ability
TOWEET Q T 5ed

(Marks : 10)

(e3° e : 10)

°
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The probability of getting at least one head on a toss of five coins is

5 PO DETSNE EAN0 8 F%02 5T DB D02TI5eh

—

(W]

e
wlw W w [
N|H N|““] M|’“"

Options :
1. %1
2. %2
3.%3
4.9 4

Question Number : 149 Question Id : 6326864938 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Statistical Ability (Marks : 10)
TOWEET Q TP 5ed (530200 : 10)

°
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While shuffling a pack of 52 playing cards, 2 are accidentally dropped. Then

the probability that missing cards to be of different colours is

52 S0E5e0 30 DE 30D 50D D08 oS Bochd ¥ SwEien
SHDITFONID. HDIFONS e Toch & Eren Bodd D)

S0MHEN OTE EINBY Do 5eh

22
52

26
51
27
51

Options :
1. % 1
2. %2
3.¥3
4. % 4

Question Number : 150 Question Id : 6326864939 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Statistical Ability (Marks : 10)
ODET R TP 5ed (3775000 : 10)

°
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When 5 boys and 6 girls sit at random in a row, then the probability that

boys and girls sit alternatively is

5 HS 2rend, 6 H% wrdien 28 SIS ASrdydysorr
S0P )0 0@ e erdden 2,88 @orsed 2.5 ST D080

Q02T €D

4 8 o

2 ol

{ } 462

1
3 e
{ } 132
1

Ay

{ } 990
Options :
1. %1
2.9 2
3.%3
4. % 4

Communication Ability

Section Id : 63268672
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 38
Number of Questions to be attempted : 38
Section Marks : 50
Enable Mark as Answered Mark for Review and Clear Yes
Response :
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 632686543
Question Shuffling Allowed : Yes

Question Number : 151 Question Id : 6326864940 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Thinl

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0 Qcollegedunias
India’s largest Student Review Platform



Meanings (Sentences with dashes) Q.No.151 to Q.No.155

The company is obliged to give a refund if the tour is

(1)  cancelled
(2) completed
(3) pleasant
(4) lengthy

Options :
1.v 1
2. %2
3. %3
4. % 4

Question Number : 152 Question Id : 6326864941 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Meanings (Sentences with dashes) (Q.No.151 to Q.No.155

The monks are expected to live a life of

) luxury

) austerity
(3) conundrum

) iconoclast

Options :
1. %]
2.¥2
3. %3
4. % 4

Question Number : 153 Question Id : 6326864942 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Meanings (Sentences with dashes) (Q.No.151 to Q.No.155
Qcollegedunias
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in the idea of democracy is the notion of individual liberty.

(1)  Coherent
(2) Implicit
(3)  Inchoate
(4) Inert

Options :
1. %1
2.¥2
3. %3
4. % 4

Question Number : 154 Question Id : 6326864943 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Meanings (Sentences with dashes) (Q.No.151 to Q.No.155

Have you heard of the ten-year old mathematical who can solve
the toughest problems in the shortest amount of time?

) prodigal

)  protége
(3)  prodigy

) parody

Options :
1. ¥ 1
2. %2
3.¥3
4. % 4

Question Number : 155 Question Id : 6326864944 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Meanings (Sentences with dashes) (Q.No.151 to Q.No.155

°
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v Air strikes against military bases a full scale invasion.

(1)  prattle
(2) placate
(3)  mollify
(4) presage
Options :
1. %1
2. %2
3. %3
4.9 4
Sub-Section Number : 2
Sub-Section Id : 632686544
Question Shuffling Allowed : Yes

Question Number : 156 Question Id : 6326864945 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Synonyms and Antonyms (.No.156 to O.No.160

Choose the antonym for ‘Despicable’

(1)  inevitable

(2)  worthy of esteem
(3)  unprejudiced

(4) belittle

Options :
1. %1
2.9 2
3.%3
4. % 4

Question Number : 157 Question Id : 6326864946 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Synonyms and Antonyms Q.No.156 to Q.No.160
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Select the most appropriate synonym for ‘abeyance’

(1)  obedience
(2) meekness
(3)  suspension
(4) deference

Options :
1. ¥ 1
2. %2
3.¥3
4. % 4

Question Number : 158 Question Id : 6326864947 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Synonyms and Antonyms (Q.No0.156 to O.No.160

Antonym of ‘sparse’

) meagre
)  scant

(3)  thin
)

abundant

Options :
1. %1
2. %2
3.%3
4.9 4

Question Number : 159 Question Id : 6326864948 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Synonyms and Antonyms Q.No.156 to Q.No.160
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Synonym of ‘manifest

(1)  faulty
(2) limited
(3) clear
(4)  varied

Options :
1. # 1
2.%2
3.3
4. % 4

Question Number : 160 Question Id : 6326864949 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Synonyms and Antonyms (Q.No.156 to Q.No.160

Antonym of ‘pusillanimous’

(1)  tremulous
(2)  timorous
(3)  cautions
(4)  fearless

Options :

1. %1

2. %2

3.%3

4.9 4

Sub-Section Number : 3
Sub-Section Id : 632686545
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 6326864950 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Verb (Tense and Voice) (.No.161 to Q.No.165
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Passive voice of ‘People say there is a secrete tunnel near the village.”
is

(1)  There is a secret tunnel near the village, said people.

(2) It was said that there was a secret tunnel near the village.
(3)  Itis said that there is a secret tunnel near the village.

(4) It is said that there was a secret tunnel near the village

Options :
1. ¥ 1
2. %2
3.¥3
4. % 4

Question Number : 162 Question Id : 6326864951 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Verb (Tense and Voice) Q.No.161 to Q.No.165
When you start for the party?
(1) do
(2) does
(3) were
(4) was

Options :

1.v 1

2. %2

3.%3

4. % 4

Question Number : 163 Question Id : 6326864952 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Verh (Tense and Voice) Q.No.161 to Q.No.165
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Active form of the sentence ‘Let the window be closed.’

(1)  Allow me to close the window.
(2) Make him close the window.

(3)  Can anyone close the window?
(4)  Close the window.

Options :
1. ¥ 1
2. %2
3. %3
4.v 4

Question Number : 164 Question Id : 6326864953 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Verb (Tense and Voice) (.No.161 to Q.No.165

Passive voice of ‘Read the newspaper report.’

(1) Newspaper report must be read.
(2)  Let youread the newspaper report.
(3) Let the newspaper report be read.
(4)  Newspaper report may be read.

Options :
1. % 1
2. %2
3.¥3
4. % 4

Question Number : 165 Question Id : 6326864954 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Verh (Tense and Voice) Q.No.161 to Q.No.165
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One of my friends broken his fingers and is in a lot of pain.

(1) is
(2) has
(3)  had
(4) have
Options :
1. % 1
2.9 2
3.%3
4. % 4
Sub-Section Number : 4
Sub-Section Id : 632686546
Question Shuffling Allowed : Yes

Question Number : 166 Question Id : 6326864955 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Phrasal Verbs & Idioms Q.No.166 to Q.No.170
Let us not this issue any more.
(1) delvein

(2)  delve for
(3) delveinto
(4) delveto

Options :
1. ¥ 1
2. %2
3.3
4. % 4

Question Number : 167 Question Id : 6326864956 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Phrasal Verbs & Idioms (.No.166 to Q.No.170
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The director is riding high on the huge success of his film. The
underlined part means.

(1)  jubilant

(2)  earning money
(3) showing attitude
(4)  appreciative

Options :
1.v1
2. %2
3. %3
4. % 4

Question Number : 168 Question Id : 6326864957 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Phrasal Verbs & Idioms (.No.166 to Q.No.170

He always abides by the decision of his parents. The underlined
expression implies:

(1) refuses
(2)  requests
(3) rejects
(4)  accepts

Options :
1. ¥ 1
2. %2
3. %3
4.9 4

Question Number : 169 Question Id : 6326864958 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Phrasal Verbs & Idioms (.No.166 to Q.No.170
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Life is not a bed of roses.

The given idiom means:

) typical
) difficult

(3)  hard
)

carefree

Options :
1. %1
2. %2
3.%3
4.9 4

Question Number : 170 Question Id : 6326864959 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Phrasal Verbs & Idioms Q.No.166 to Q.No.170

He was in fine feather joking with his employees.

(1) In disappointment
(2) In excitement

(3) In excellent form
(4)  Inironical mood

Options :

1. %1

2. %2

3.¥3

4. % 4

Sub-Section Number : 5
Sub-Section Id : 632686547
Question Shuffling Allowed : Yes

Question Number : 171 Question Id : 6326864960 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Qcollegedumas
India’s largest Student Review Platform

Correct Marks : 1 Wrong Marks : 0
Articles & Prepositions (Q.No.171 to Q.No.175



He is hard hearing.

(1) off
(2) of
(3) at
(4) in

Options :
1. % 1
2.9¥2
3.%3
4. % 4

Question Number : 172 Question Id : 6326864961 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Articles & Prepositions Q.No.171 to Q.No.175
He may not be brilliant but he is good English.
(1) at

(2) on

(3) for

(4)  with

Options :

1.%1

2. %2

3. %3
4. % 4

Question Number : 173 Question Id : 6326864962 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Articles & Prepositions (Q.No.171 to Q.No.175
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We had to walk the forest to reach the village.

(1) to

(2)  through
(3)  across
(4)  for

Options :
1. % 1
2.9 2
3.%3
4. % 4

Question Number : 174 Question Id : 6326864963 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Articles & Prepositions Q.No.171 to Q.No.175

Spread the quilt the bed. Don’t just put it there.

) above
) in

(3) on
)

for

Options :
1. ¥ 1
2. %2
3.¥3
4. % 4

Question Number : 175 Question Id : 6326864964 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Articles & Prepositions Q.No.171 to Q.No.175
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the conversation, she left the room at once.

(1) During
(2)  Over
(3) On
(4) At
Options :
1.¥ 1
2. %2
3. %3
4. % 4
Sub-Section Number : 6
Sub-Section Id : 632686548
Question Shuffling Allowed : Yes

Question Number : 176 Question Id : 6326864965 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Computer Terminology Q.No.176 to Q.No0.180

The process of dividing a disk into tracks and sectors is called _ .

(1)  Tracking
(2)  Sorting

(3) Formatting
(4)  Allotting

Options :
1. %1
2. %2
3.¥3
4. % 4

Question Number : 177 Question Id : 6326864966 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Computer Terminology Q.No.176 to Q.No.180

°
Qcollegedumas
India’s largest Student Review Platform



The file extension of MS-WORD document in office 2007 is )

(1)  .pdf
(2) .doc
(3)  .ppt
(4) Jxt

Options :
1. %1
2.¥2
3. %3
4. % 4

Question Number : 178 Question Id : 6326864967 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Computer Terminology (Q.No.176 to Q.No.180

MOOCs stands for

(1)  Media Online Open Courses
(2) Media Offline Open Courses
(3) Massive Open Offline Courses
(4) Massive Open Online Courses

Options :
1. ¥ 1
2. %2
3. %3
4.9 4

Question Number : 179 Question Id : 6326864968 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Computer Terminology (Q.No.176 to Q.No.180
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Which of the following is not a memory device?

) HDD

) SSD
(3) Flash Drive

) HUB

Options :
1. ¥ 1
2. %2
3. %3
4.9 4

Question Number : 180 Question Id : 6326864969 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Computer Terminology (Q.No.176 to Q.No.180

The full form of URL is :

(1)  Uniform Resource Locator
(2) Uniform Resource link
(3)  Uniform Registered Link
(4) Uniform Required Link
Options :
1.1
2. %2
3.%3
4. % 4
Sub-Section Number : 7
Sub-Section Id : 632686549
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 6326864970 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Business Terminology Q.No.181 to .No.185
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‘Pareto’ principle is also known as

) 80/20 Rule
) 50/50 Rule
(3)  20/80 Rule
) 75/25 Rule

Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 182 Question Id : 6326864971 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Business Terminology Q.No.181 to (0.No.185

A start-up that is valued at a hillion dollars or more is called

(1)  lion’s share

(2) mega project

(3)  unicorn

(4)  emerging phenomenon

Options :
1. %1
2. %2
3.¥3
4. % 4

Question Number : 183 Question Id : 6326864972 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Business Terminology (Q.No.181 to Q.No.185
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An ordered list of topics to be considered at a meeting, along with the
name of the person responsible for each topic, is known as

(1) agenda
(2) business etiquette
(3)  notice

(4) documentation

Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 184 Question Id : 6326864973 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Business Terminology Q.No.181 to (0.No.185

A legal document that protects a company’s secrets by holding the
employees responsible is

(1)  Non-official secrets Act

(2)  Non-disclosure Agreement

(3) Disclosure Agreement

(4) Non-governmental Secrets Act

Options :
1. % 1
2.9 2
3.%3
4. % 4

Question Number : 185 Question Id : 6326864974 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Business Terminology Q.No.181 to .No.185
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Export import policy of the government is formulated by

(1) Finance Ministry.
(2)  Commerce Ministry
(3) RBI
(4)  EXIM bank
Options :
1. # 1
2.¥2
3.%3
4. % 4
Sub-Section Number : 8
Sub-Section Id : 632686550
Question Shuffling Allowed : Yes

Question Id : 6326864975 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0

Question Numbers : (186 to 190)

Read the Passage and answer the questions (.No.186 to Q.N0.190
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Conservation technology is a growing field, and right up in the
forefront are drones, or unmanned aerial vehicles, which are either
operated by a remote controller or programmed to fly unaided.
Drones have had a long history of use in the military and by large tech
companies in mapping roadways, and their applications in
conservation and ecology are growing .

Drones have various uses in wildlife conservation and monitoring,
especially given the smaller sizes and more-affordable costs
associated with this technology in modern times. Examples include
using drones for elephant population monitoring and in measuring
forest hiodiversity. They are also widely used in monitoring illegal
activities such as poaching or deforestation. Kaziranga National Park
was the first protected area in India to utilize drones in targeting rhino-
poachers.

UAVs are also used to track wildfires and their spread, playing a role
in disaster mitigation. Recent applications include the use of drones
in pest management, where pesticides are loaded into drones for
spraying large swaths of cropland, as seen during the locust swarm.

Drones can help counter issues related to safety of manned aerial
surveys since there is no pilot involved and they can be flown into
remote locations which might otherwise be inaccessible. In the event
of a crash scenario, their smaller sizes are likely to cause less damage
which means ground staff who operate them do not face the risk of
injury.

Sub questions

Question Number : 186 Question Id : 6326864976 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Read the Passage and answer the questions Q.No.186 to Q.N0.190
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This passage is mainly about using drones for

(1) spotting enemy aircraft

(2) making roads and high way

(3) wild life conservation and monitoring
(4) spying and warfare

Options :
1. ¥ 1
2. %2
3.¥3
4. % 4

Question Number : 187 Question Id : 6326864977 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Read the Passage and answer the questions (.No.186 to Q.N0.190

The first use of drones by Kaziranga National Park was in ohserving

) elephants

) rhino-poachers
(3) deforestation

) locust swarms

Options :
1. # 1
2.92
3. %3
4. % 4

Question Number : 188 Question Id : 6326864978 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Read the Passage and answer the questions Q.No.186 to Q.N0.190
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Which of the following is NOT the use of drones?

(1)
(2) conservation and ecology

(3) elephant population monitoring
(4) population census

disaster management

Options :
1. %1
2. %2
3. %3
4.9 4

Question Number : 189 Question Id : 6326864979 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Read the Passage and answer the questions (.No.186 to Q.N0.190

UAV stands for

(1) Unidentified Air Vehicle
(2) Universal Aerial Vehicle
(3) Unmanned Aerial Vehicle
(4) Unaided Air Vehicle

Options :
1. %1
2. %2
3.¥3
4. % 4

Question Number : 190 Question Id : 6326864980 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Read the Passage and answer the questions (.No.186 to Q.N0.190

°
gcollegedumas
India’s largest Student Review Platform

-



The Risk of crashes while using drones is lower because of their

(1) technology
(2) accessibility
(3) range
(4) size

Options :

1. %1

2. %2

3. %3

4.v 4

Sub-Section Number : 9
Sub-Section Id : 632686551
Question Shuffling Allowed : Yes

Question Id : 6326864981 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time : 0
Question Numbers : (191 to 195)
Read the Passage and answer the questions Q.N0.191 to Q.N0.195

Although nature must supply the initial force of desire, nature is not,
in the civilised man, the spasmodic, fragmentary, and yet violent set
of impulses that is in the savage. Each impulse has its constitutional
ministry of thought and knowledge and reflection, through which
possible conflicts of impulses are foreseen, and temporary impulses
are controlled by the unifying impulse which may be called wisdom.
In this way education destroys the crudity of instinct, and increases
through knowledge the wealth and variety of the individual’s contacts
with the outside world, making him no longer an isolated fighting unit,
but a citizen of the universe, embracing distant countries, remote
regions of space, and vast stretches of past and future within the circle
of his interests. It is this simultaneous softening in the insistence of
desire and enlargement of its scope that is the chief moral end of
education.

Sub questions

Question Number : 191 Question Id : 6326864982 Question Type : MCQ Option Shufflin
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Thinl
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Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Read the Passage and answer the questions Q.N0.191 to Q.No0.195

‘Spasmodic’ in the passage stands fora / an

) Endemic
) Truce

(3) Outburst
)

Dance

Options :
1. %]
2. %2
3.¥3
4. % 4

Question Number : 192 Question Id : 6326864983 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Read the Passage and answer the questions (.No0.191 to Q.No0.195

Nature in the civilised men does not sharethe  of the savage.
(1) Impulses
(2) Glory
(3) Wisdom
(4) Discretion
Options :
1.v 1
2. %2
3.%3
4. % 4

Question Number : 193 Question Id : 6326864984 Question Type : MCQ Option Shufflin

Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Thinl .
Instruction Time : 0 W collegedunia:
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Correct Marks : 1 Wrong Marks : 0
Read the Passage and answer the questions Q.N0.191 to Q.N0.195

Wisdom is an impulse that

(1) unites

(2) divides

(3) confuses

(4) disintegrates

Options :
1.1
2. %2
3. %3
4. % 4

Question Number : 194 Question Id : 6326864985 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Read the Passage and answer the questions Q.N0.191 to Q.No0.195

Education makes man a citizen.
(1) bad

(2) universal

(3) greedy

(4) questionable

Options :
1. %1
2.¥2
3. %3
4. % 4

Question Number : 195 Question Id : 6326864986 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Qcollegedumas
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Read the Passage and answer the questions Q.N0.191 to Q.No0.195

The moral purpose of education is

) softening

) exaggerating
(3) vitiating

) decimating

Options :

1.1

2. %2

3. %3

4. % 4

Sub-Section Number : 10

Sub-Section Id : 632686552
Question Shuffling Allowed : Yes

Question Id : 6326864987 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0

Question Numbers : (196 to 200)

Read the Passage and answer the questions (.No0.196 to Q.No.200
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Theorists adopting psychodynamic approach hold that inner conflicts
are crucial for understanding human behaviour, including aggression.
Sigmund Freud, for example, believed that aggressive impulses are
inevitable reactions to the frustrations of daily life. Children normally
desire to vent aggressive impulses on other people, including their
parents, because even the most attentive parents cannot gratify all of
their demands immediately. Yet children, also fearing their parents’
punishment and loss of potential love, come to repress most
aggressive impulses. The Freudian perspective, in a sense, sees us as
‘steam engines’. By holding in rather than venting ‘steam’, we set the
stage for future explosions. Pent up aggressive impulses demand
outlets. They may be expressed towards parents in indirect ways such
as destroying furniture, or they may be expressed toward strangers

later in life.

Sub questions

Question Number : 196 Question Id : 6326864988 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Read the Passage and answer the questions (.N0.196 to Q.No.200
The word "inevitable' in the passage is closest in meaning to

) unavoidable
) regrettable

(3) controllable
) unsuitable

Options :
1.¥1
2. %2
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3. %3
4. % 4

Question Number : 197 Question Id : 6326864989 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Read the Passage and answer the questions Q.N0.196 to Q.No.200

The word ‘they' in the passage refers to

(1) future explosions

(2) pentup aggressive impulses
(3) outlets

(4) indirect ways

Options :
1. %1
2.¥2
3. %3
4. % 4

Question Number : 198 Question Id : 6326864990 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Read the Passage and answer the questions (.N0.196 to Q.No.200

According to the passage, Freud believed that children experience
conflict between a desire to vent aggression on their parents and

(1) A frustration that their parents do not give them everything
they want.

(2) Afearthat their parents will punish them and stop loving them.

(3) A desire to take care of their parents.

(4) A desire to vent aggression on other family members.

Options :
1. # 1

2.¥2
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4. % 4

Question Number : 199 Question Id : 6326864991 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Read the Passage and answer the questions (.No0.196 to Q.No.200

The word ‘gratify’ in the passage is closest in meaning to

) identify

) modify
(3) satisfy

) simplify

Options :
1. # 1
2. %2
3.43
4. % 4

Question Number : 200 Question Id : 6326864992 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Read the Passage and answer the questions Q.No.196 to Q.No.200

Freud describes people as ‘steam engines’ in order to make the point
that people

(1) Deliberately build up their aggression to make themselves
stronger

(2) Usually release aggression in explosive ways

(3) Must vent their aggression to prevent it from building up

(4) Typically lose their aggression if they do not express it.

Options :
1% 1 Qcollegedumas
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2. %2
3.¢3
4. % 4
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